[ Efficiency vs vertpos |

~ 0.5

20.45

g
2 0.4
[S]
$0.35
Q
£ 03

................................................

...........................................

................................................

...................................

Ratio

R R ARS AR LRRRN RARRN RARLE LML

S TE EERY © R

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbarPU

Efficiend —— DQM_mKFit_TTbarPU-noDNN3
ICIeNd __,__ DQM_mkFit_TTbarPU-clonerfix3

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

ettici

Ratio

— +
=l
"?":""
P
e
———

-10 O 10 20 30
TP vert z (cm)

~ 0.5
>
D—_0.45
€
D 0.4
20.35
&
c 0.3
[
3]
£0.25
©
0.2
0.15
0.1

..................................................

................................................

Ratio

é ‘10 1520
Sim. PV z (cm)



	Contents
	Page 1


